

$$U_{g^{-1}} \underline{U_w \mathbb{1}} = U_{wg} \underline{{}^w U_g^* \mathbb{1}}$$

$$U_{g^{-1}} \underline{U_w B_{-\omega}^n} = \overleftarrow{a + \underline{w + \omega} c}^* U_{wg} B_{-\omega}^n {}^w U_g$$

$$U_{g^{-1}} \underline{U_w B_{-\omega}^n} = U_{wg} \underline{{}^w U_g^* B_{-\omega}^n} = \overleftarrow{a + \underline{w + \omega} c}^* U_{wg} B_{-\omega}^n {}^w U_g$$

$$U_{g^{-1}} \underline{U_w K_+ G_0^n} = \overleftarrow{a + wc}^* U_{wg} K_+ G_0^n$$

$$U_{g^{-1}} \underline{U_w K_+ G_0^n} = U_{wg} \underline{{}^w U_g^* K_+ G_0^n} = U_{wg} \underline{K_+ G_0^n \overleftarrow{a + wc}^*} = \overleftarrow{a + wc}^* U_{wg} K_+ G_0^n$$

$$\dot{x}^x \underline{\det} = \text{tr} \underline{\overleftarrow{x}^1 \dot{x}}^x \underline{\det}$$

$$U_{g^{-1}} \underline{U_w K_+ G_0^n \dot{\omega}} = \overleftarrow{a + wc}^* U_{wg} \underline{K_+ G_0^n \dot{\omega} {}^w U_g + n \overleftarrow{a + wc}^* \dot{\omega} c}^*$$

$$U_{g^{-1}} \underline{U_w K_+ G_0^n \dot{\omega}} = \overleftarrow{a + \underline{w + \omega} c}^* U_{wg} K_+ G_0^n {}^w U_g \dot{\omega} \overleftarrow{a + \underline{w + \omega} c}^{n-1} \overleftarrow{a + \underline{w + \omega} c}^* \overleftarrow{a + \underline{w + \omega} c} \overleftarrow{a + \underline{w + \omega} c}^* \dot{\omega} c U_{wg} B_{-\omega}^n$$

$$0^w U_g = 0$$

$$\underline{{}^0 U_g} = \underline{{}^w g}$$

$${}^0_z U_g = \underline{z} g = \underline{{}^z_0 U_g}$$

$${}^0_z U_g = \underline{{}^0_z g^{-1} z g} = \underline{{}^0_z g} \underline{{}^z g^{-1} z g} = \underline{z} g$$

$${}^0 U_g = g \underline{{}^0_1 g}$$

$$\begin{aligned} \left(\underline{z + \zeta \dot{w}} \right) \left(\underline{(z + \zeta) \dot{w}} \underline{(z + \zeta) \dot{w}} + \underline{z \dot{w}} \underline{z \dot{w}} \right) &= \underline{z + \zeta \dot{w}} - (z + \zeta) \dot{w} + (z \dot{w} - \zeta \dot{w}) \underline{z \dot{w}} \\ &= \underline{z + \zeta \dot{w}} - (z + \zeta) \dot{w} + -z \dot{w} - \zeta \dot{w} \underline{z \dot{w}} \underline{z \dot{w}} = z \dot{w} - \zeta \overbrace{\dot{w} + \dot{w} + \underline{z \dot{w}} \underline{z \dot{w}}} \\ &= \underline{z \dot{w}} \left(\underline{z \dot{w}} \underline{\zeta \dot{w}} \underline{z \dot{w}} \left(\underline{z \dot{w}} \underline{\dot{w} + \dot{w}} + \underline{\dot{w} z \dot{w}} \right) \right) = \underline{z \dot{w}} \left(\underline{\zeta^z B_w^{-1}} \underline{\dot{w} + \dot{w} - \dot{w} z \dot{w}} \right) \end{aligned}$$